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daga ilaglas
g (£0) Glaie¥) A S Al 2e -
Aadia (YA) glaie¥) i) S Ciladia s -
i g gl (Olaiel) du) S Cladia 230 ey Alanl) a5 e U -
(el EDE) HLaaY) e -
Aad (V) Jlaadl Ayl ds all -
P Agling ciladedl) 032 18 . qllal) (6510
ALY e ol g g Al dasie ol laie¥) Al S dadia 8 ¢l gus 12 Cillaglail § 3
Ala) (8 el U8 s 48 S8 liny Jlpad) T
(Jps JS O 1t Baa) g dady Y sthall g ¢ gl daa e Ali) o
REGN S P VRRES W PRV SPRTCH DWW UR PR I8 1| P B PG L B MU PN PR A PR
Aaliad dalall Ala 85 Lla Dl daiadid) daluall 8 coal dllad) Al W30 elils) xie
sl e G Cual )5 ) 3 LAY aa 83 gasal) Ciladia A LY JlSinl (S 5 A
L8 padi oy (o g

ki (B) 5 (A) ¢& el A LEAY) Allial) ALY e dlifla) xie
1 g Of e G JUEAY) Aliud ce dila) die

s IS SLAS Sl damall Ay e JIall el cld 5 yalall JUs
e (C) Aauaiall LY 1l

: Aaaal) 4aY)

®OE

Asnaa Y Gt Asgaia ) il Chall cud o (ad dla) il 13 L dlla 8-
L ) et Uad dls) Cuals adallly Cadd G ¢ dapaa s cual 13 e dlls 4 -
; ddsala
o) ey o ST e JalAEl) a5 13) (A cpe JLEAYY) Ao g gal) ALY Al B
Mol ) el ¢ GlaY) ) S o
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1- Choose to answer (A) or (B) only: () 9l (1) e Al 3351 (V)
A) Mention the effect of high direct potential on | _stan yeiwett agatt 3,8 sl 531 (1)
the electrons which emitted from the filament | atca e 5yslall clig iy Lo

in Coolidge tube. TS Mgl B
B) Choose the correct answer: s dovoual| Dl W I (o)
X - ray spectrum which generated when aad (ye gl At Aaa ¥ Cads

emitted electrons from the filament loses its | 48Ut &Laall (e Bllaied! by ST ¥
energy gradually when passes near the target | “Rs S8 a9 e gyitly

atoms represents: ey gl Bale S0
@ Absorption line spectrum las polaiel ado @
@ Absorption continuous spectrum s olaiiel ado @
@ Emission line spectrum gl slaglads @
@ Emission continuous spectrum s ilad o @

2 alwd b
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2- Choose to answer (A) or (B) only:

Compare between:
A)

£ () 51 (1) o Rgla 31 i -
z&).j&)@

(M

Point of comparison
A ylatl dxg

Step — up transformer
Al a1, (o eSS gt

Step — down transformer
Sl (2B (o 5T J gt

Electric current
intensity in the
secondary coil with
regard to current
intensity in the primary
coil
Caledl B il HLad B
oL Buad Aty g g3l
N Ny (P-TDU{ - SN

B)

(@)

Point of
comparison
W Hlall dx

Phenomenon of
self-induction
I Co B palts

Phenomenon of mutual
induction
JaLall Cont 13 palts

Physical concept
b jall pggat!

3

A gl
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3- Choose to answer (A) or (B) only: 1(2) 91 (1) e ol 50 (Y)
A) Choose the correct answer: s Aovouall Al Wi s (1)
Ratio between total impedance and the
Ohmic resistance in the oscillating circuit at
resonance 1s:

Angliaetly AnlSH A8 glaatl (pos Accuidl
sy Wl 8 5360 8,30 (B Hra g

@ More than one el (po S @
@ Equal to one 9 (gl @
@ Less than one o (g8 (o JBT @
@ Equal to zero Ny (& gl @
B) Give Reason for: e (o)

The platinum — iridium wire in hot wire
Ammeter is mounting on a plat made of a metal
having the same expansivity as that of the hot | delas (uis Lgt 83le (o 2 98 e (5511

el B (g pga ¥ il

wire itself and both are isolated from each other. Slgie AT 3e e Lt Baled sueid!

4- Choose the correct answer: 1 Aovovall Al W1 i (¢)
The associated wavelength (A ) for a moving it cmbiaadl A o sl Jslall coulizy
particle has a mass (m) and velocity (v) is V e py I 4208 1 yoin (g3Lo

proportional with

@ Directly with mass m and velocity v V91 (e US pe Lis o @
@ Directly with mass m and inversely with V poe GoasSie s M o s o @
velocity v
@ Inversely with mass m and directly with Ve sk 5 TN s Lossic @
velocity v
@ Inversely with mass m and velocity v V51N (e US oo Luwuse @
4 Al b
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5- Choose the correct answer: + Aovouall Aala NI 0 (0)
Coherent photons in the optical rays means: gl ims B gual | A W1 ol g5 58 a3
@ Emitted by variable phase difference ile jabo By 3UalS @
@ Moving in parallel beams )l ke Lgindl deja B U ol @
@ Emitted by constant phase difference als ek (8 s GUAG @
@ Does not obey inverse square law Sl s ST () g3LAY puasi ¥ @

6- Choose the correct answer: s Aovouall) Al W1 i (1)

The potential difference between two points Ji Al Lewie Cpidadd (po agand! 3,2
when a work of 30 Joules neede.d to transfer | (10 C) au e mes gan (30 J) gas
10 Coulombs between the two points is equal to:

@) 03V 03V O
® 3V 3V Q@
© 30V 30V &
@ 300V 300V (O

5 A il
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7- Compare between:

s o Qo8 (V)

Point of comparison
aylat) any

Ohmmeter

e g¥!

Hot wire ammeter
L.;)‘):J‘)J.’e.n;y‘

Reason of not
equal division scale

Sobud pute i
e -t L

8- Transistor has B, = 50, find o., then calculate the
collector current if the base current =5 x 10 > A

(Og) ot (P = 50) 4 o515 (A)

LS OIS 13 aemnal | 5L Clws | @2

(5x 107°A ) 3aelat
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9- What is meant by? + —3 dguadaell Lo (4)
The effective value of AC =2 A $2 A (g5l 33 o 5L ATLaat) Fesall
10- Choose to answer (A) or (B) only 1(2) 91 (1) e Aala ¥ 551 (V1)
A) What is meant by the following statement? | : 41 5 Lalt dde JuS Lecasi (1)

The method of connection of group of Clagliadl (o Ao gama o gi Hii,bs
electrical resistors with different values to WBISe haglite aat] Aalisnal d eS|
form equivalent resistance its value less than e gamall b A glie iual (pe 51

the smallest one .

.. O (e Lo (@)

B) What is meant by? S e AL st Y JAAT]
The total work done to transfer one Coulomb | - C
. . . ‘“,ss\e)b-gggj.és.s}acd:-u(l )
inside and outside the battery in the closed 1517 oM &
circuit = 15 Joules (02 )by Balie By g8 3,50

7 A gl
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11- Choose to answer (A) or (B) only (@) 91 (1) e Al ¥ 351 (VY)
Choose the correct answer + Avuouial | Al W1 S|
A) Straight wire with length 2 meter is moving | s (2T ) 4t o o s (1)
with a velocity 10 m/s perpendicular to e gasee (10 M/ S) i puuy
uniform magnetic field with magnetic flux BB @lalie o uudaliae Jloe oy tas
density 0.1T, the induced electro-motive aanlant 3930 055 (0.1 T) 2
force generated is equal to (6 9l dd 5T gl Ko | By 1S3

@) 2v 2v (D

B) Inductive coil with self- induction coefficient | <abs 2 sLedt (o »eS3 5L i Jutas ()
0.25 H is needed to generate an induced 398wt gty 0.25 H s s
electro-motive force = 10 volt , the rate of | extsae 10V aioiis 2,68 wadls
change of electric current passing through : Gobun
the coil is equal to

@) 0.025A/s 0.025A/s (1)
@ 2.5A/s 2.5A/s @
(©) 10.25Ass 1025 A/s &)

@ 40A/s 405 ()

8 Al 1]
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12- Choose to answer (A) or (B) only
Mention:
A) Wien’s law
B) One application for a thermal imaging in the
medicine.

() 91 (1) oo Al ¥ 531 (1Y)
« SA
O 0918 i (1)
G2 ol s guaill sty Lidas (o)
codatt Jloe

13- The figure represents one of electron transitions
in hydrogen atom. Calculate the wavelength of
the emitted photon
(Knowing: h = 6.625x10** J.s , ¢ = 3x10® m/s
and e =1.6x10"°C)

09 S OH LI e Jiay ST ISt (VYY)

O 9ot 83
O9gall (gl Jodatl cowuss!
1ol Lele Cacielt

« h=6.625x10%Js)
«c=3x 108 m/s
(e=16x10"C

n= o -1.51ev
n=2 -34ev
n=1 -13.6 ev

9
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14- In helium neon LASER compare between:

10 QLB (19:0 p o) 558 B (V1 8)

Point of comparison
W ylatl dx g

Helium gas
P ol

Neon gas
Osd!

The source of
excitation to the

higher level
Qb.‘.ﬁ‘ 3)\5!)..\.;46

Ladt Ol gl

15- What is meant by?

Drift current in the P — N junction

t —d dguadadl Lo (V0)
9@%‘%5”@9@3&‘)@

10

M‘Y‘ &)G

CIA 7 (VG o)l - A=alyol) dulinl) A



I 59t - (At ool Y ARIS) Ly 3o - Yo VAV Y00V (ol o8 L) - Aualadl 2y 3L Al 5ol ALY Bl (Lol

16- What is the relation between type of force
between two wires passing through each of them
electric current and the direction of current in
the two wires?

HudoLidel| 35211 ¢99 (o) ABMall Lo (1 1)

2= (i3 9500 (pnSis (g B gL
2 okalt HLAT! oland g (3 545 HLE Legs
§ oSl

17- Two adjacent coils with mutual induction 0.2 H
between them, the current is changed in the primary
coil from 5 Ato3 Ain 0.01 sec,
calculate induced electro-motive force generated in
the secondary coil.

Jalciattcem M oholm it aplate (VV)

Sttt saa e (0.2 Hylego

(B A) (5 A) (o (ealadl uni b
.(0.01 s) g

A0 ;ST Aadiad 58t Caun!

AL alel| B 3T giel| Adoiual !

11
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18- Give reason:
The electric current does not flow in the circuit
contains capacitor and direct current source

connected in series.

s de (\A)

Lgs 4alioe 3,00 (B (o gS HL e ¥
S iae g S e Juate CaiSe

19- Choose to answer (A) or (B) only:

A) Mention one example for electronic specialize

devices.
B) Mention the name of device which convert
continuous signals to digital signals.

() 91 (1) e a1 351 (14)
daSlol oY lu aly Yiiae , 31 (1)

AT

Ja9d (o puicuad ! Hhgand ! ol 1S3 ()
OS] | Alaiel) A St Sl
Aol

20- Choose to answer (A) or (B) only:
A) What is meant by optical pumping?
B) What is meant by the laser beam does not
obey invers square law?

1(2) 91 (1) pe Al W1 35 (Y1)
§ Agual! fiall dulans 3 guaial e (1)
pasi ¥ )5l dasl Of W gay S Bile ()

§ Sl | a0 G golat

12
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21- Choose to answer (A) or (B) only 1(2) 9l (1) s Aol 50 (YY)
Choose the correct answer s Asvovall Al Y1
A) The equivalent resistance of three identical Ailaie Gleglie DU diBISaT I %a glaat (1)
resistors is connected in parallel = 2Q, s0 its | 0555 (2 Q)gslud G315 le Auate
equivalent resistance in series is equal to: e Juo gl wie gl LBISY daglael]
L ylude gt

B) In the circuit as shown in the figure, if the Il Il a3 35001 5B ()
reading of Ammeter 1 A the reading of selyd 0955 LA el 18 cals
voltmeter is: e gal

3V [ o0
O, | 3v @O

R
AN
@ gv 5 oy &
22- In the circuit shown in the figure, it’s a circuit Oy Al (o ISl Airead 13,5001 (YY)
in resonance, what happen to the reading of e el gt Bl At Eokoms 1300
voltmeter when the switch K is closed? K liad gl
C
L /K
R C
O—0
13 A 5
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23- In the circuit shown in figure the phase angle | JS—ab dieadt a3 51401 -8 (YY)
between total voltage (V) and current (I) (V) ASI gt 1358 (s sslal 2515
passing through the circuit is : g obad 8,50 5Lt (1) Lany

@) +90° . +90° (O

0 || 00800 0
@ +45 Xc=80Q X =60Q R=20 Q +45 @
© -5 - —45° O
Z o
-90° -90° (®
24- Give reason for: s He (YE)
The resolving power of electron microscope is ST g S g ySeealt Akt | 5 sl
very high . s B S
14 A sl
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25- In the circuit shown in the figure, calculate: P | JSATLY Aerad) 500401 B (Y0)
(1) Current intensity passing through the CRiaeglaati oo jlet sLatizas (1)
resistance R Roaaglaa yiaze (1)

(2) The value of the resistance R .
L=02A 6Q

1=0.6A R

NV
12 Q
L=0.1A
| |VB
| =0
26- A number of multipliers is used to convert oo 2alidns uga Olaclias cuensiul (Y1)
galvanometer reads up to Ig to Voltmeter used (Ig) diale dlosin sLi uadl piegilals

to measure potential difference (V) , the given | aatiss igs @y,a iy , st sa o1
table represents the relation bet\yeen MaxXImum | o sy g gasdt doies (V)
measured voltage and the magnitude of the Caba X L

el gall dandis O (3Sen g (B2 (2Bl

multipliers Ry cat Plaatt (R ) agadtcacling ylazay
V (volt) 7 9 11 13 15
R _(Q) 300 400 500 600 700

Plot a graph between (V) on the vertical axis and | ,le (V) o 260t 23 alt @)l
R, on horizontal axis, from the graph find the s9-natt e (R) 9 il 311 yg-mnalt
current of galvanometer 1. () a5 o1 (g 20

15 A il
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27- Choose the correct answer : Aoviovall Aol W1 i (YV)
Wil | Ao ,gSH! AadId! 59a1 ylide
0550 Leie geliond! cale 3 dlastl|
Ll M Ll unboliaell ol

The value of instantaneous induced e.m.f in the
coil of dynamo when the magnetic flux passing
through the coil is maximum, is equal to

1S gbun (rolac
@ The maximum value «olac Aeid @
@ The effective value Allad Aad @
@ The average value o yie deud @

@ Zero N yhio @

17 A gl

CIA 7 (VG o)l - A=alyol) dulinl) A



AL 51 - (A ol Y ARIY) Ly joica) - Yo VAT Y00V (ol yut8 L) - ol 2y 3L el 5ol ALY Bl (Lol

28- Choose to answer (A) or (B) only (@) 91 (1) e Al ¥ 351 (YA)
1 dowowall dala B oS

A5 Sty Aot 5,50t 8 ()

aatise (C. B (A) polias

b e pluas US Jan Aagliell

aadlat 55211 (OV ) ,eS uga

aa33t (V) dopllardt ey ygsy

1Sobun Laylade oleatloia se Loy

Choose the correct answer

A) In the circuit shown in the figure three
lamps with different resistance each lamp
is working on 6 volt , so the e m f (V) of
the battery needed to operate these lamps is
equal to

®
%
<
A

-
%
<
©

B) In the opposite circuit when the switch K Bl e Sl Aaal! 33000 G2 ()
is closed, which of the following choices Jiey 25¥ Skt g1 K ziaan
represent the change in the reading of the Hualdgall 31,8 G2 Galodl il
Ammeter and the Voltmeter? ey

Choice | Reading of voltmeter | Reading of Ammeter
Vs =|7V shasy el gatl 3s 1,8 a1 31,8
1™ "ora ® Increases Increases
7\ . alaya alaya
30 @ Increases Decreases
K @ decreases Increases
A Jas aasas
3Q @ No change Increases
G Y Aaj3
18 A g5
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29- Ammeter reads up to I, and has a resistance Bl e 1550 (0.1 1) ataglan siaal (¥)
of 0.1 Q. What is the value of required shunt (@) asas Lsas s

resistor to increase its reading 10 times 0riginal? | 505 a3 5Lt (5 jove Ao glie cows |

(Ll V +) yldGed doue@y HLS (oiadi

30- Choose to answer (A) or (B) only () 91 (1) He Al il (Yr)
Give reason for: e

A) Step — up transformers are used at generating | a2/ aues3 O¥ gomad) pusias (1)
power station to transfer electrical energy to | o dr¢sItaSlhati ot agnl

zones of distribution. S gl Skl I Laud o3 Cillase
B) The standard resistors are made of double Sl (o Al Sla glied! s ()
wounded coils. Sl 930 Lat 48 gale
19 At aals
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31- In the opposite figure the coil with iron core able | (e -8 als it ale L gt 3 (YY)
to move, and the coil is connected with Ohmic | %yl deglio pe Juaio calally ot
resistance, Ammeter and battery in series, what | i ,¢85,50 3 3151 e s sltasy siusls

happen to the reading of Ammeter if the iron VSEISCIATE AT JUNVEN L PRP I
core is withdrawn from the coil rapidly? §A0 s Ll (po (Gutputomd | LY
Pull ’,‘ " s
R | Ammeter
< l N
— |7 Y
sl
32- Choose to answer (A) or (B) only (@) 51 (1) oo Al W1 351 (YY)
Give reason for: ] idle
: 2aa¥l A Suaad) cadall sglay Y 43 (1)
A) The Line spectrum of X ray may be not appears. i PRIRT

B) The wavelength in Leyman’s series has the | 3sex Sl o2 250t dsdadi ()

shortest wavelength in hydrogen spectrum . Bp sl emsall Jisbo ¥ 3l oledd
SO g gt

33- In the logic circuit as shown which one choice
in the truth table makes the output D =1

O 1 ISl Aot Alated) 5 ,50401 3 (YY)
D =1 ;501 & ya Gasw 2B SHLas Y
[ =

Choice
o A B C
0 0 1
A AND @
B—— b D[ & I 0 1
@ 0 1 1
20 Al c_)u“
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34- Write the relation of Ampere’s circuital law. | ic 5 -ael! dusb 3 A83al clSH(YE)
RESCIN O PN v

35- What is the function of the magnetic field of | Jlawed! 4 podig gt Houdi La (Y0)
the permanent magnet in the electric motor? | a @i judoliGel! udolize!!

RIS PUIN (JEL GE SN §

36- Inductive coil with Ohmic resistance 10 Q is (10 €2) e y¥ aaglae com ate (¥1)
connecting with A C source of e m f=10V AaBlud) AigB 23 e 5L yiaes Joy
calculate its inductive reactance when the intensity (10 V) ag ,est

of the electric current in the circuit = 0.8 Ampere. | loic catelt ddot) dtelaelt Cous
(0.8 A)ad s latt HLad 50 (955

21 A gl
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37- Choose the correct answer
Straight wire its length 1 m carries a current 2 A,
is placed normally in a uniform magnetic field,
the wire is affected by a force 3N so magnetic

flux density of the field is equal to:

38- Choose to answer (A) or (B) only

Give reason

A) The P — N junction is used to rectify A C .
B) The conductivity of semiconductor is increased

with increasing its temperature .

22

+ doouial A3l W1 st (YV)
Gt LS ey (1) sl iians il
Jlos e Lingas pidg Lo (2A)
ats 0555 (3N) 59y 55l udbline
L8 ylide Jlad ! 1iagh oLkl | (.l

() 91 (1) pe Al ¥ 551 (YA)
e
sl BhIS ASLAY) Ao gl ausiud (1)
933 et | HLa!
uds Balad s pgSI! Babuqgill sl ke

Ty A s plai )l Al go

m‘Y‘ &)G
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39- Give reason for:

Laser beam is used to determine the astronomical
distance

e (Y1)
Olaluadt yuld ‘:,3 gyl tl.a.f:‘ P )
asiall

40- Write down the mathematical relation which
is used to calculate the energy of any level in
hydrogen atom.

Aodiucel | Audly o3 ABMalt CaS) (€4)
353 B suwe (g1 ABlo Ol -2
- 9 gt

41- Define the alternating current

iaye (£Y)
a3 et HLAS!

42- Give reason for:
The magnetic torque acting on rectangular coil
carries a current is placed in a magnetic field and
its plane parallel to field is decreased gradually
until reaches the normal position

r Me (£Y)
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43- Choose to answer (A) or (B) only
Choose the correct answer

A) When the length of the wire is increasing to
double and its cross sectional area decreases to
its half, the resistivity of the wire becomes

@ Increases four times
@ Increases three times
@ Increases to double
@ Does not change

B) If the intensity of electric current in a
conductor is 2 A . so the quantity of electricity
(charge ) which passes through the cross
section of the conductor in one minute is :
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44- In the opposite figure, two metal rings its e Oliiias Glials L JSadl 2 (1)
resistance negligable in the same plane is affected | 5™ 2 dloge Arag¥! dinglia il
by varied and normal magnetic field, the ratio R e L“" s L“"“ »5 -”:‘3
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45- Photon with wavelength 4 X 107 m falls on a Ao (45 1077 M) 2 50141 go 552 a2 (£9)
surface of metal with work function 2.3 X 1075 | (2.3 x 10719 ]) &t Jacsiatns puse plas
find the kinetic energy of emitted electron from | g iaia oy sty 48 1> A8l s
a su'rfzice of thse metal, gi\ien tl}{1’21t speed of light | | 4 e s L ke Oraal el (s
in air = 3 x 10® m/s and Planck’s constant 3 x 108 IS )15 i 5 15:gl b
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